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Jxz Jyz Jz Mx My Mz ε M0�
8 9 12 −96 −108 144 12 204 �������� ������
12 24 24 24 48 −48 −2 72 ��������  ������¡
3 4 12 −12 −16 48 4 52 ¢£¤�¥�� ¦§����¨©
3 4 12 −12 −16 48 4 52 ª�««��£¬¬�� ¦ ����­
1 12 12 −4 −48 48 4 68 ������ �¨��¬���®
2 6 9 2 6 −9 −1 11 ¯£�¬�§�� �°§�±²
12 12 14 −36 −36 42 3 66 ¢������� ª������¨³
6 12 12 −24 −48 48 4 72 ����������¨ �¬�����±�´
4 20 22 −24 −120 132 6 180 µ���� �����¶
4 8 19 −12 −24 57 3 63 ����� ¦§����¨��
2 5 14 −8 −20 56 4 60 ·£¸�¬�� ¹�����
6 8 24 6 8 −24 −1 26 ¢£��º��� �¬�����±�» ¼½¾ ¿ÀÁÂ Ã�®ÄÄÅÆ


